Foundation
BE THE NEXT GENIUS Class 11 Sample Question:

(Commerce)

English:

The Amazon rainforest is the largest rainforest in the world, covering an area of over 5.5
million square kilometers. It is home to an incredible diversity of plant and animal life,
and is considered to be one of the most important ecosystems on Earth.

The Amazon rainforest plays a vital role in regulating the global climate. It absorbs large
amounts of carbon dioxide from the atmosphere, and helps to regulate rainfall patterns.
The rainforest is also a major source of fresh water, and provides a home for many
indigenous peoples.

1. What is the main function of the Amazon rainforest?
(A) To provide a home for indigenous peoples

(B) To regulate the global climate

(C) To provide a source of fresh water

(D) All of the above

2. How many square kilometers does the Amazon rainforest cover?
(A) 5.5 million

(B) 10.5 million

(C) 15.5 million

(D) 20 million

3. The somber silence in the room was broken only by the ticking of the clock. This
ticking of the clock made the old man think about his life’s journey.

Question:



What is the meaning of the word "somber"?
(A) Happy

(B) Sad

(C) Excited

(D) Gloomy

4. He will his post when the enemy will attack. The
delicious chocolate cake.

(A) desert, dessert

(B) desert, desert

(C) dessert, dessert

(D) dessert, desert

5. The teacher_took him to task for not doing his homework.
Write the meaning of the underlined phrase.

(A) scolded him

(B) praised him

(C) ignored him

(D) rewarded him

Aptitude:
6.Complete the series 7, 26, 63, 124, 215, 342, ?

(A)392
(B)511
(C)481
(D)421

was a



7.An Informal Gathering occurs when a group of people get together in a casual,
relaxed manner. Which situation below is the best example of an Informal Gathering?

(A) A debating club meets on the first Sunday morning of every month.

(B) After finding out about his salary raise, Jay and a few colleagues go out for a
quick dinner after work.

(C)Meena sends out 10 invitations for a bachelorette party she is giving for her elder
sister.

(D) Whenever she eats at a Chinese restaurant, Roop seems to run into Dibya.

8.Today is Monday. After 61 days, it will be :

A) Tuesday B) Monday

C) Sunday D) Saturday

9.In an election between two candidates, one got 55% of the total valid votes, 20% of
the votes were invalid. If the total number of votes was 7500, the number of valid votes
that the other candidate got, was :

A) 2500 B) 2700

C) 2900 D) 3100

10.The car dealer found that there was a tremendous response for the new XYZ’s car
booking with long queues of people complaining about the duration of business hours
and arrangements. Courses of action:

|. People should make their arrangement of lunch and snacks while going for car XYZ'’s
booking and be ready to spend several hours.

Il. Arrangement should be made for more booking desks and increase business hours
to serve more people in less time.

A. If only | follows
B. If only Il follows
C. If either | or Il follows



D. If neither | nor Il follows
E. If both | and Il follow

Accountancy:

11.Which method of depreciation calculation reduces the value of an asset by a fixed
percentage each year?

(A) Straight-line method

(B) Reducing balance method

(C) Annuity method

(D) Unit of production method

12. What is the purpose of a bank reconciliation statement?

(A) To calculate the bank balance at the end of the accounting period

(B) To reconcile the balance in the cash book with the balance in the bank
statement

(C) To record transactions related to bank loans and investments

(D) To calculate the interest earned on bank deposits

13. Which accounting principle states that accounting transactions should be recorded
at their original cost?

(A) Materiality principle

(B) Matching principle

(C) Cost concept

(D) Dual aspect concept

14. What is the purpose of a trial balance?

(A) To ensure that all transactions are recorded correctly in the accounting
system

(B) To calculate the net profit or loss of a business

(C) To prepare financial statements

(D) To reconcile the cash book with the bank statement

15. Which accounting assumption assumes that a business will continue to operate
indefinitely?

(A) Consistency assumption

(B) Going concern assumption



(C) Accrual assumption
(D) Prudence assumption

Business Studies

16.Which type of business organization offers limited liability to its owners and can issue
shares to raise capital?

(A) Sole proprietorship

(B) Partnership

(C) Limited Liability Company

(D) Cooperative society

17. What is the meaning of the term "indent" in international trade?
(A) An official request to import goods

(B) A document certifying the quality of goods

(C) A legal agreement between the buyer and seller

(D) A financial instrument used for payment in trade transactions

18. What is the concept of Intellectual Property Rights (IPR) in entrepreneurship?
(A) The exclusive rights granted to inventors for their inventions

(B) The protection of ideas and concepts in the business domain

(C) The right to copy and reproduce copyrighted material

(D) The ownership of physical assets in a business venture

19. What is the objective of the World Trade Organization (WTO)?
(A) To promote free trade and reduce trade barriers

(B) To provide financial aid to developing countries

(C) To regulate the global banking system

(D) To promote cultural exchange between nations

20. What is the key objective of the Start-up India Scheme?
(A) Promoting small-scale industries

(B) Encouraging entrepreneurship and innovation

(C) Facilitating international trade

(D) Providing financial support to multinational companies



Economics

21. Which market structure is characterized by a large number of buyers and sellers,
homogeneous products, and perfect information?

(A) Monopoly

(B) Oligopoly

(C) Monopolistic competition

(D) Perfect competition

22. In indifference curve analysis, what does the budget line represent?
(A) Consumer's income

(B) Consumer's preferences

(C) Consumer's utility

(D) Consumer's budget constraint

23. Which type of data collection involves the use of existing data sources?
A) Primary data

B) Secondary data

C) Census data

D) Sampling data
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24. Which type of sampling technique ensures that every individual in the population
has an equal chance of being selected for the sample?

(A) Simple random sampling

(B) Systematic sampling

(C) Stratified sampling

(D) Cluster sampling

25. What is the measure of central tendency that is most affected by extreme values?
(A) Mean

(B) Median

(C) Mode

(D) Variance



